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Theme 2: Social Model

DEFINING THE PROBLEM
AND YOUR SOLUTION

Introduction

As your plans emerge from initial
ideas and thinking towards a more
complete project concept and

potentially on to a fully operational e e
enterprise, you will increasingly

need to think about your social How We Do It [ sociar mooer strateay OPERATING / ORGANISATIONAL MODEL
model. Your social model forms
an essential component of your What We Do

business model and helps link your
mission (‘what we do’) to your
vision (‘why we do it’):

This framework forms your entire business model; in this theme of the
toolkit, we will be focusing on the development of the Social Model
component. Vision, Mission, Strategy and the link into your operations is
discussed in the Business Model theme of this toolkit.

The social model is the key element that differentiates a social enterprise
from a commercial business. Although many social entrepreneurs recognise
the importance of their social model, many fail successfully to define and
articulate its key components. Due to the significance and challenges of
this topic, this section goes into some detail compared to other themes
within this toolkit. Throughout this theme, we will refer to a single case
study, Social Enterprise D, an organisation that provides advice, information
and support to refugees and migrants in city ‘y’. This hypothetical
organisation is used to illustrate some of the key processes and thinking
required when developing your social model.



The ‘social change model’ is a useful framework for understanding
and communicating your social model. The framework separates an
organisation’s social model into three core components:

- The theory of the problem: The problem (social, environmental)
that you are setting out to solve / alleviate.

- The theory of change: The solution theory (your strategy) to
addressing the problem defined above.

- The theory of action: The key interventions (your actions/
operations), which will enable the organisation to deliver the theory
of change solution.

The diagram below illustrates the fundamental role of your social model in
bridging the gap between your organisation’s vision and mission.

The future the organisation seeks
to create.

The engine of change that
THEORY OF connects the vision to the
PROBLEM mission.

Capturing the organisations view
of the problem it is trying to
solve.

THEORY OF THEORY OF
ACTION CHANGE Idntifiying what change to target
and how to act.

What the organisation intends to
do; it’s reason for being.



It is never too early to start
thinking about the nature of your
social model. It is likely to be a
continuously evolving concept - as
you learn more about the problem
and the effectiveness of your
interventions, you may discover
new, more robust strategies and
actions for addressing the root
causes of the problem.

The very fact that you have chosen
the social enterprise model for your
project / organisation suggests
that you have already identified a
problem which you believe you can
solve. The purpose of this section

is to take a closer look at both the
initial ‘problem’ idea (theory of

the problem) and your proposed
strategy for solving this problem
(theory of change). The translation
of your solution / strategy into a set
of interventions is discussed in the
next section of this Social Model
theme of the toolkit.

The function of business planning
is related to designing and
documenting your social model;
however, full business planning
will define both the social model
and the business model, then

do a deep dive into much more
detailed aspects of operations,
governance, finance, organisational
development, etc. - that is, pretty
much every other theme covered
in this toolkit. Business planning
is considered under the Business
Model theme of this toolkit.
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Defining the theory of the problem

You are likely already to have

an idea for solving a particular
social or environmental problem.
However, before launching into
designing your solution, it’s worth
thinking about the nature of the
problem in some detail. If you can
successfully define the problem you
are setting out to solve (ideally in
one statement), it is far more likely
that you will be able to develop

a robust strategy for solving it.
Furthermore, if you are serious
about making your organisation
work, you are going to have to find
a way of communicating the nature
of the problem to a variety of
stakeholders, in a clear, simple and
accessible way.

In this next section we will
introduce a logical process for
defining the problem you are
setting out to solve; the theory of
the problem. This process is driven
by three core elements of the
problem definition:



- What is the current situation (or state) of the problem you have
identified?

- What is the context behind this problem?

- What is the end, goal state or condition that would result if the
problem was solved?

The diagram below demonstrates the role of these three elements in
defining the theory of the problem your organisation is looking to solve:

GOAL STATE:

THE STATE OR CONDITION
THAT WOULD RESULT IF THE
PROBLEM WAS SOLVED

WHO IS WHAT IS THE WHY DOES
EXPERIENCING SCALE OF THIS PROBLEM
THIS PROBLEM? THE PROBLEM? EXIST?

Note: ‘Defining your theory of the problem’ is based on Shrestha & Appanah’s ‘Innovative Problem Solving Guide’

(2008), accessed March 2010: http://ysei.org/node/88

Theory of the problem - current and goal states

The first step in this process is to define the current situation and the goal
state for the problem you are seeking to address. The example below
illustrates the current and goal states as defined by Social Enterprise ‘D’,



an organisation seeking to provide advice, information and support to
refugees and migrants in city ‘v’
GOAL STATE:

MIGRANTS AND REFUGEES
é ARE SOCIALLY, CULTURALLY,

POLITICALLY AND ECONOMICALLY
INTEGRATED WITHIN THE LOCAL
COMMUNITY

Remember, determining these different ‘states’ will require a close
understanding of both the current problem and the desired state. This will
require you to have a detailed understanding of the context of the problem
by completing a robust environmental analysis (see next section). With
this in mind, you will often find that you may need to re-examine your
definition of the current and goal states once you have completed your
environmental analysis (the context).

Theory of the problem - the context

Now that you have defined the problem and what the world would look
like if the problem was removed, the next step is to develop a deeper
understanding of the situation through an environmental analysis - i.e. the
context. When assessing the context behind the problem you are trying to
solve, you should be aiming to answer the following questions:



- Who is experiencing this problem and what are their typical
experiences?

- ldentify the target population

- Where appropriate, segment the target population into a
number of separate groups

- Try and identify the typical experiences of the target
population / segments

- ldentify trends or future expected changes that may change
the situation (for better or worse)

- What is the scale of the problem?

- How big is the target population (ideally broken down by
the separate groups outlined above)

- Is the problem growing / is the target population growing?
- Why does this problem exist?

- Understanding the root causes of the problem (see below)

The most challenging, yet ultimately vital element of this analysis is
identifying the root causes of the problem. These causes will become
the foundation of your theory of change and your theory of action. The
PEST analysis is a useful way of assessing the root causes of the problem
you have identified, providing a framework for assessing the potential
Political, Economic, Social and Technological causes of a problem. For
some problems, it may also be worth examining the potential Legal and
Environmental causes - i.e. PEST(LE). When completing the PEST(LE)
analysis, it might be worth referring to your stakeholder analysis to identify
some of the key groups that might influence the problem you have
identified.
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In many cases, the root causes of problems identified with your PEST(LE)
analysis can be split into two categories:

- Individual causes- a lack of specific individual interventions (e.g.
‘lack of support around employment issues for migrants)
- Systemic causes- large scale systemic causes which effect the

population as a whole (e.g. ‘wide spread discrimination towards
migrant workers’)

Theory of the problem - example

The diagram below sets out a high level summary of key elements of Social
Enterprise D’s (an organisation aiming to provide support to refugees and
migrants in city ‘y’) theory of the problem:

GOAL STATE:

MIGRANTS AND REFUGEES ARE SOCIALLY,
CULTURALLY, POLITICALLY AND ECONOMICALLY
INTEGRATED WITHIN THE LOCAL COMMUNITY

WHO IS WHAT IS THE WHY DOES
EXPERIENCING SCALE OF THIS PROBLEM
THIS PROBLEM? THE PROBLEM? EXIST?

- Refugees - Number of refugees Individual Cases
- Migrants - Number of Migrants - Language barriers with local services
- Growth Rates (%) - Lack of understanding of rights

- Unable to access entitlements
- No way of getting integrated into local community activities

- na !’(" O(IF(‘{‘SSFT‘UDI"O ment opportunities
Unable t ) t of tunit

Systematic Causes
- Discrimination by employers / local community

- rerugees / migrants are not curren ' ‘politica [1\’SI(M'?T,!‘(“('}VT‘Cy
Refug t t tl litically signifu



During Social Enterprise D’s analysis of the context behind the problem, it
was established that the key ‘root causes’ of the problem were as follows:

- Individual causes:

- Difficulties for migrant and refuges in understanding and
accessing their rights and entitlements around:

- Employment and benefits § Healthcare
- Social care
- Immigration
- Limited support to help migrants and refugees integrate
into the local community through local clubs, groups and
community activities.
- Systemic causes:

- Discrimination by employers

- Discrimination in the local community

Taking these root causes into consideration, Social Enterprise D has created
the following definition of the ‘theory of the problem’ it will aim to address,
combining the identified current state, goal state and problem context:

Many migrants and refugees in city Y’ don’t understand their right and
entitlements to services, receive limited support in helping them integrate
into local activities, and are discriminated by employers and their local
community. These factors to social exclusion and social polarisation, making
it very difficult for migrant workers and refugees to become integrated into
the community.
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Theory of change

Now that you have clearly defined the problem you are aiming to address
(theory of the problem), the next stage is to develop your strategy for
addressing this problem (theory of change). Your strategy for solving
this problem, your theory of change, needs to define the building blocks
required to bring about your long term goal (goal state).

9 GOAL STATE:

THE STATE OR CONDITION THAT WOULD
RESULT IF THE PROBLEM WAS SOLVED

The purpose of the ‘theory of change’ process is to help you develop

a robust solution strategy built around the root causes of the problem
you are setting out to address. It should be structured around three key
elements:

- Interventions: the high level initiatives or activities that bring about
outcomes

- Outcomes: the results generated by the interventions

- Assumptions: explaining the connections between the interventions
and the outcomes.

Using the context of the problem outlined in the previous section (theory
of the problem), you should aim to define and map the ‘cause and effect’
links that connect your high level interventions to your outcomes, and your
outcomes to the alleviation of the problem(s) experienced by your target
population.

The example overleaf illustrates the pathway of change for Social
Enterprise ‘D’ which provides advice, information and support to refugees
and migrants in a city Y. The theory of change outlines both the current



state and goal state of the defined problem, then illustrates the key
interventions (in red) that social enterprise D can make to change the
outcomes (in green) and achieve the overall goal state.

This example, as with any theory of change, would also require clear
documentation of the assumptions made within this solution theory- the
connections between the interventions and the outcomes. Where possible,
evidence should be provided to justify these examples; from research,
personal experience or experiences from a similar organisation. For
example, why would ‘support provided to migrants and refugees around
employment and civic rights’ generate: 1) More opportunity for migrants
and refugees to access the local employment market. 2) Make migrants and
refugees more politically active?
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